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BBCET-141 : NUTRITIONAL BIOCHEMISTRY

Time : 3 Hours
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Note :

1. Define the following :

(a)
(b)
(c)
(d)
(e)
2. (a)

Attempt any seven questions. All question

carry equal mark.

5x2=10
Micronutrients.

Tolerable Upper Intake Level (TUL)

Calorie (Cal)

Resting Metabolic rate (RMR)

Specific Dynamic Action (SDA)

Enumerate factors affecting metabolic rate of

an individual. 5
P.T.O.

(b)

(a)

(b)
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Explain common anthropometric indicators
and their interpretation. 5
Define Z-score. How do its values relate to
nutritional status of an individual ? 5
Elaborate the role of carbohydrates as

precursors of various biomolecules. 5

Write short notes on any two of the following :

(a)
(b)
(c)
(a)
(b)

2x5=10
Lipotropic factors
Cytoskeletal proteins.
Nitrogen balance.
Explain the bioavailability of amino acids. 5

Explain the biochemical functions and dietary

sources of folic acid. 5

Name the diseases due to deficiency of the following

nutrients and write their symptoms: 5 x 2 =10

(a)
(b)
(c)
(d)
(e)

Vitamin C
Vitamin D
Vitamin A
Vitamin E
Vitamin B12



7.
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Enumerate biochemical roles of the following

minerals : 5x2=10

(a)
(b)
(c)
(d)
(e)
(a)

(b)

(b)

Phosphorus

Calcium

Manganese

Iodine

Copper

What is meant by bioavailability of a drug ?

Explain the factors which affect the absorption

of a drug. 5

Give an overview of metabolic syndrome. 5

What is atherosclerosis and it consequences ?
5

Discuss about various naturally occurring food

toxicants. 5
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freafafe =1 affia S 5x2=10
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7.
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(71) foarf= s

(%) faarfua =12

frafafen @i & S9 WEtw gfaer &1 9o

I 5%x2=10
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3ify & STaeior sl guifad s ot SR &
IR H ST 5

(@) U= fagm 1 dfa faero s 5
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